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NMANEAAAAIKEZ EZETAZEIZ
" TA=HZ HMEPHZIOY 'ENIKOY AYKEIOY
TETAPTH 13 IOYNIOY 2018

AMNANTHXZEIZ ZTH ®Y2ZIKH MPOZANATOAIZMOY
OEMA A
Al.y
A2. 5
A3. a
A4.0
A5. a. A\dBog, B. ZwoTd, y.Ndbog, 6. ZwoTtd, €. AdbBog.

B1l. a..chrTr'] armravtnon : i
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B2.a.2woTh ammavinon : iii
B. AimloAdynon :
Apxn S1aTAPNONG OTPOPOPUAG :

L, =L

R . .
wx —Len = MUR=mMU'—~ = U =20 = w =4w
2

OMKE. : W. =K -K_ = S1'w? - Ijo? = SmR%w?
2 2 2

B3.a.ZwoTth armravinon : i
B. AimloAdynon :

h'=£gt2 = t= ’Z_h
2 g

Xx=u,-t = 4h=u,- /z—h = 16h2=uA2-% = u,’ =8gh
g g

E¢iowon ouvéxeiag
Mn-=n, = A-uvy=A,.vu, = 2A,-u =A,'u, =

U, =20y = uU,® =4u? = 8gh=4u? = u?=2gh

Bernoulli : P + %pur2 =P, + %pqu +pgh =
P.--P, = %p-Sgh + pgh - %p-2gh =
P.-P, =4pgh = P, -P, =2py?

OEMA T
M, =, = wW-A= /mLA = U, =2m/s
1
AAET : A=A/
21n ©.1. Tpiv TV Kpouon : f, = w ] f, = 338f,

Apxn 6laTApNoNg oppnAg : m, -u; = (M, +m,)-U, = U =1m/s
U= Ug

21n O.l. petd TNV Kpouon : f, = f, = 339,
f 338
f, 339
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{Faz
L= kx - kx =-2kx =-Dx = D=2k (A.AT)

Uy =~ U« = WA, =1 & %-Az=1 = A; =0,2m

r4. dp
dt

=Y F__ =DA=2kA =20 kg-m/s*

max

OEMA A

Al.1=1, +1 :>I=£mR2+iM£2+M£ =
a T le 5 s T 5

2 2
|=1.4. ﬁ +i.8.32 +8-3—=25 kg-m?
2 2 12 4

A2. ‘% =>1=W-0ouve -~
-80.06-2 =72 K&™
2 S
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/
A3. nup = % = Y= ZnHe
2

X =

nuUe = X= -2-0,8 = x=0,1m

N | W

N | o>
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AAME
Ky +U, =K; +U; =
Ki =M-g-x = K; =24

A4. TPOXAAIA
ZT = Icm(Tpoxa)\iag) 'aywv(T) -
T-R=1 -a =

cm(Tpoxahiag) ywv(T)

T=97,5-q,, (1)

AIZKOZ

dYF=m-a,= mgnue-T-T, =m-a,
T,.= 240 -127,5-a,, (2)

1
dT1=l0ym = TeR-T-R= EmRzaywvm) =
T R-TR=imR % o T 7=

2 R

T, -975-a,, =15-a,, =T, =97,5-a,,+15-a,,(3)
@

= a_=1m/s?
(3) cm

1
s = Eacmt2 = t=2sec
u, =a,t = u,=2m/s
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